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Question Number : 1 Question Id : 2549896240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Various applications and documents are represented on the
Windows desktop by :

Options:

1. * symbols
2. = labels
3. »= graphs
4. v icons

Question Number : 1 Question Id : 2549896240 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

Windows 3¥heiq WX fafsiee Cftererered 3T SiFgHCH
q geiid gld |

Options:

1. = g (aeaea)
2. = olged
3. = ITHFH
4.&?3-1133?7’?8'

Question Number : 2 Question Id : 2549896288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

gg AT WRTA & @R g YR HT B S STdar &7

Options:

1. = 3C8T WIS
2. % TERST s

3. = gheflc HISa




S

4, v BIFTHC FISd
o,

Question Number : 2 Question Id : 2549896288 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

Which type of file is created by word processing programs?

Options:

1. » Database file
2. = Storage file

3. * Worksheet file
4. v Document file

Question Number : 3 Question Id : 2549896335 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

23T GIEId e & T @ & O ST T g 3TAT e
ST 87

1. = 3a9c f3arsd
2. v HANT

3. = 3M3eqc f3arsw
4. = Fow ()

Question Number : 3 Question Id : 2549896335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which of the following components are used to store data?

Options:

1. = Input Device
2. v Memory

3. = Qutput Device
4. = Printer

Question Number : 4 Question Id : 2549896359 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0



Which of the following is controlled by a mouse and changes
shape depending on its current function?

Options:

1. = Help

2. * Icon

3. v Pointer
4. = Menu

Question Number : 4 Question Id : 2549896359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

farer & O *iaar [dehed AT garT @IfEa giar § 3K 39

TAHAT HereTel & 3TYR 9 3ThR dcoldl &7

Options:

1. = go9

2. % 3TSehlal
3. v UigcT
4, = A

o,

Question Number : 5 Question Id : 2549896553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The storage capacity of a 3.5” floppy disc is:

Options:

1. » 1.2 MB
2.+ 1.5 MB
3.v 144 MB
4. %« 1 MB

Question Number : 5 Question Id : 2549896553 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

Teh 3.5" wolur T2 T &AdT fohder adr 87

Options:

1. = 1.2 MB



2. = 1.5 MB
3. v 1.44 MB
4. = 1 MB

Question Number : 6 Question Id : 2549896657 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

foeaT # & Sl a1 e &1 UhE A8l &7

Options:

1. % ool oI
2. % Zholc
3. » SFUFC
4. v JAcaldr

Question Number : 6 Question Id : 2549896657 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT a type of printer?

Options:

1. = Laser jet
2. = Inkjet

3. = Impact
4. v Jetlag

Question Number : 7 Question Id : 2549896280 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

The blinking point which shows your position in the text is
called a

Options:

1. = blinker
2. v CUrsor
3. % causer
4. = pointer



Question Number : 7 Question Id : 2549896280 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

¢ H et Pl fezme arer feafeardr fog Far Fgerd
&7

Options:

1. = fSaepT
2. v HOT
3. = ST (Causer)

el

4. = digex

Question Number : 8 Question Id : 2549896302 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

ST & el TT Ueh 37e[WANT (VCollehelel) FIFCAI &7

Options:

1. = DOS
2. = Windows
3. % Linux

4. v MS Office

Question Number : 8 Question Id : 2549896302 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

Which of the following is an application software?

Options:

1. = DOS

2. » Windows
3. = Linux

4. v MS Office

Question Number : 9 Question Id : 2549896361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Teh HISshl HTged UMl H Hegel TN Jieic (CPU) a1
MEET T Tk T o gATfga fomar Srar g oa el
ST &

Options:

1. = Tl
2. % QI

3. v ABHUEAT
4. » AT &5

Question Number : 9 Question Id : 2549896361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In a microcomputer system, the central processing unit (CPU)
Or processor is contained on a single chip called the

Options:

1. = slot

2. % port

3. v microprocessor
4. = motherboard

Question Number : 10 Question Id : 2549896423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

forafaf@a & & a1 wraf@e AANT & 7 & 3T & TohdT
&7

Options:

1. *= ShIfcol ST

2. = g5 &&=

3. = 3iiceehel [3Eh
4. v RAM

Question Number : 10 Question Id : 2549896423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Which of the following can be used as a primary memory?

Options:

1. = Cartridge tape
2. » Hard disk

3. = Optical disk
4. v RAM

Question Number : 11 Question Id : 2549897622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

gic dAfcaT Tk UhR I Y

Options:

1.&*%3?(%)
2. = BT ()
3. » T3&h
4. = g9

Question Number : 11 Question Id : 2549897622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Dot matrix is a type of

Options:

1. v printer
2. % tape
3. = disk
4. = bus

Question Number : 12 Question Id : 2549897643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

displays convert electrical energy into light.

Options:

1. v Emissive
2. « Non-Emissive
3.« CRT



4. = Monochrome

Question Number : 12 Question Id : 2549897643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

feecel faegd FiT 1 wehrer # gRafcld Iar gl

Options:

1. ¢ E’ﬁflﬁﬁ’

2. % dAld-5HET
3. = T3 (CRT)
4. % AYARIA

Question Number : 13 Question Id : 2549897314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

RHEL 7 operating system uses which of the following file
systems?

Options:

1. = NTFS
2. % FAT 32
3. v XES

4. = hboot

Question Number : 13 Question Id : 2549897314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

RHEL 7 dTRfcer eeq e Wigel wunferdr & & FT &
3T AT &7

Options:

1. = NTFS
2. = FAT 32
3. v XFS
4. = boot

Question Number : 14 Question Id : 2549898413 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

Which function returns the inverse of the cumulative
distribution function for a specified beta distribution in MS
Excel 20077

Options:

1. v BETAINV function

2. » BINOM.INV function
3. = INVCBETA function

4. » CUMBETAINYV function

Question Number : 14 Question Id : 2549898413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Excel 2007 #, shla 8T el U falese sier faawor
TheRelel & ToT TodT faeRor &7 SoohdA T 87

Options:

1. v BETAINV Werere

2. = BINOM.INV wherelel
3. = INVCBETA Werelal

4. = CUMBETAINV wheFere

Question Number : 15 Question Id : 2549898668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What will be the output for the function PERCENTILE({({3; 4;
9;11; 12}; 0.5) in an OpenOffice Calc?

Options:

1. %4
2.v9
3.= 11
4, %12

Question Number : 15 Question Id : 2549898668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Mg AT e (OpenOffice Calc) # Whaelel PERCENTILE
(({3; 4 9; 11; 12} 0.5) =T AT I3CYC glam?

Options:

1. = 4
2. v 9
3. = 11
4. = 12

Question Number : 16 Question Id : 2549896287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

H ISl &7 A1 3T T9ad: Wies FT Th SRRFAT
grair &l
Options:

1. » TISd ScHIHL Jhe

2. * Thlgel §cd
3. v WIS ST
4. » TISel TITHThheTeT

Question Number : 16 Question Id : 2549896287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A includes the file name and possibly a directory of
folders.

Options:

1. = file information packet
2. = {ile button

3. v file directory

4. = file specification

Question Number : 17 Question Id : 2549896569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

LAN T BEaid &9 a7 §7




Options:

1. = Local Access Network

2. = Local Advanced Network
3. v Local Area Network

4. = Local Alternative Network

Question Number : 17 Question Id : 2549896569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

What is a LAN?

Options:

1. = Local Access Network

2. » Local Advanced Network
3. v Local Area Network

4. » Local Alternative Network

Question Number : 18 Question Id : 25498910851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

TEZ3Tolel fATeH T X # U Uo7 e 7ar & 38 7 Fgl
ST 872

Options:

1. = so Mex

2. % o8e Wex

3. v O e

4. » gic HAfeFw MeT

Question Number : 18 Question Id : 25498910851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A standalone system which produces one page of printed
output at a time is called:

Options:

1. = laser printer



2. = line printer
3. v page Printer
4. = dot matrix printer

Question Number : 19 Question Id : 25498911095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

What will you do if you want to interact (face to face) with a
friend who is far away?

Options:

1. = Use Wifl

2. = Use Router

3. v Use Webcam
4. = Use USB drive

Question Number : 19 Question Id : 25498911095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

I IR 39 fordl AT O HS-TTHS ST T al, 3T a8
g g & al 3T FT FN?

Options:

1. % GIS-WIS T TIIET
2. % 3T T TIET
3. v TEhHA FT UIET

4, = USB 313d T wAaT

Question Number : 20 Question Id : 25498913359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

File compression 18 possible when the original dataset
contains some type of

Options:

1. v redundancy
2. = sufficiency
3. » abundancy



4. = adequacy

Question Number : 20 Question Id : 25498913359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Wﬁtﬁsﬁﬁﬂﬁ%waﬁmﬁ?a TR T / hT
gar / gdar &l

Options:

1. v ATRRdr

2. % AIALY

3. = 3T (Abundancy)
4

. % SHUaddl
2

Question Number : 21 Question Id : 25498913771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

aﬁﬁ forcaamhr Ueanyerd, Ulesheersl 3iT ffreera &
%Itf Uehol choﬂ ST ITANT F{a &

Options:

1. v gAET (AafeH)
. % ggfde (q8ea)

2
3. = HEATST (ATD)
4. = GEAAS (oade)

Question Number : 21 Question Id : 25498913771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

key cryptography algorithms use a single key for
encryption and decryption.

Options:

1. v Symmetric

2. = Personal
3. = Shared
4, = Universal



Question Number : 22 Question Id : 2549896320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

SAH & hieT SATTelloil T TR ool &7

Options:

1. » ¥X

2. % §H
3. % fqEr
4. v Gerel

Question Number : 22 Question Id : 2549896320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT a type of topology?

Options:

1. = Star
2. = Bus
3. = Ring
4. v Circle

Question Number : 23 Question Id : 2549897336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Microsoft Visio drawing I Tgolel & TolT &id & Wisd Hide
T 39T FoRaT SI1aT 87

Options:

1. = mvd

2. v vsdx

3. % mvdx

4. = ysid

Question Number : 23 Question Id : 2549897336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which file format is used to save Microsoft Visio drawing?

Options:



1. = mvd
2. v vsdx
3. = mvdx
4. = vsid

Question Number : 24 Question Id : 2549898194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

AoldaT AT el AT T

Options:

1. % JEITH
2. = Hel
3. = hHAS

4. v TAZAA

Question Number : 24 Question Id : 2549898194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Malware is also known as:

Options:

1. = Programs
2. = Malls

3. » Commands
4. v Spyware

Question Number : 25 Question Id : 2549898216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A Is a financial reward offered by technological
organisations to anyone who discovers and responsibly
reports bugs in software or computing services.

Options:

1. * Bug money
2. = Bug price
3. = Bug rise



4. v Bug bounty

Question Number : 25 Question Id : 2549898216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

_ ddIhTI HISAT @RI Ul fohdT SiTel dTel facdid
sam% ST fordir ofT safea sl AIFeaaT AT SHeygfcdr Qarsit A
FAT =hl TIel hd 3HhT SIThNT &l & ToIv fear ST &

Options:

1. = §9T HaAl

2. = §9T U9
3. = &9 5o

4. v I ST

Question Number : 26 Question Id : 2549898360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

HATSRT T@TTh i 3T WEHTAT T a5 3 Asarfed e &
ferw dTay <& Fla & qLd 15 atshg T STaT B

Options:

1. = §g¢ olisT (boot loader)
2. v §¢ ET #IsT (boot strap loader)
» §c¢ HiFad (boot sequence)

4. = FEESTA (bootstrapping)

Question Number : 26 Question Id : 2549898360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

activates immediately after a micro controller has been
powered up to load and executes other programs.

Options:

1. = Boot loader

?

W

2. v Boot strap loader
3. = Boot sequence



4. = Bootstrap

Question Number : 27 Question Id : 25498913362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

BIg UISe T # Ucdeh I ool U3 H o5 ger T
STl B

Options:

1. = Hfeaq
2. » ”IT (5Ra9)
3. v digar
4. = TOFTT

Question Number : 27 Question Id : 25498913362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

A new 1s introduced in each run length pair in image
compression mechanism.

Options:

1. = Matrix

2. » Images

3. v Intensity
4. = Pixels

Question Number : 28 Question Id : 2549899442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Non-impact printer is based on:

Options:

1. = Typewriting printing mechanism
2. v Electrical mechanism

3. = Electromagnetic mechanism

4. = Mechanical

Question Number : 28 Question Id : 2549899442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Teh dle-gFude el fohd T TR BT &7

Options:

1. » TIBUISiedr TOTedr Hehfaod
2. v faegdq ax
3. » [aegcgashy o

juts B |

4. = I

Question Number : 29 Question Id : 25498910803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

frT # & Fid @7 FYT T FT TF BT § & 58
Tadifeld 9 8 U9 STolel # T&H Fo0T g 3R 38 MW +a
HT STTATT ST &7

Options:

1. = e g3
2. v e trg
3. = e T
4, « U ¢

Question Number : 29 Question Id : 25498910803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is a function of the computer printer
that enables it to automatically insert paper through it and
allowing it to print?

Options:

1. = Print head
2. v Print feed

3. = Print spooler
4, = Print tap

Question Number : 30 Question Id : 25498918456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O



The acronym DPI stands for?

Options:

1. = Dots Per Ink

2. » Dots Per Image

3. = Dots Per Intensity
4. v Dots Per Inch

Question Number : 30 Question Id : 25498918456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

aRgull ersg DPI T quT &9 T &7

Options:

1. = Bleg 9T 3 (Dots per ink)

2. = Bled W 58 (Dots per image)
3. » Slcd W 3¢fder (Dots per intensity)
4. v sied I 37 (Dots per inch)

Question Number : 31 Question Id : 2549896215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Selac T TH VOO &l

Options:

1. = HTFcadIYL §=ol

2. % d§ Ul
3. = dadEe

4. v TCThAFCS Acdy

Question Number : 31 Question Id : 2549896215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

The internet is a system of

Options:

1. = software bundles
2. = web page



3. x website
4. v interconnected networks

Question Number : 32 Question Id : 2549896224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The standard protocol of the internet is

Options:

1. v TCPB/IP
2. = JAVA
3. = HTML
4. = Flash

Question Number : 32 Question Id : 2549896224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Zclalc &1 TE8S Walhidl (ATl ATIE) T &l

Options:

1. v TCP/IP
2. = JAVA
3. » HTML
4, = ToreT

Question Number : 33 Question Id : 2549896615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Word text can be made italics by pressing:

Options:

1. v Ctrl+1
2. % Ctr]l+B
3. = Ctrl+U
4. = Ctr]+V

Question Number : 33 Question Id : 2549896615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

ds doFEC ! Tohdeh EaRT cTeleh ST ST HehdT &7




Options:

1. v Ctrl+l
2. = Ctrl+B
3. = Ctrl+U
4. = Ctrl+V

Question Number : 34 Question Id : 2549897379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

S5 3 UF 37N K e F 0 Folr @t 2 87

Options:

1. v BACKSPACE

2. » CTRL+BACKSPACE
3. = DELETE

4. » CTRL+DELETE

Question Number : 34 Question Id : 2549897379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

What is the key combination to delete one character to the
left?

Options:

1. v BACKSPACE

2. » CTRL+BACKSPACE
3. = DELETE

4. » CTRL+DELETE

Question Number : 35 Question Id : 2549897417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

By using which tab can you add a text box in Word document?

Options:

1. » EDIT
2. » FORMAT



3. v INSERT
4. » HOME

Question Number : 35 Question Id : 2549897417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

TFE &F T 39T Rk T8 SEATASl H cFee ST i SIST ST
HehdT &7

Options:

1. = EDIT
2. » FORMAT
3. v INSERT
4. = HOME

Question Number : 36 Question Id : 2549897465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the key combination to move one word to the right in
MS PowerPoint?

Options:

1. » CTRL+SHIFT+<

2. v CTRLARIGHT ARROW
3. = CTRL+SHIFT+>

4.« SHIFT+<

Question Number : 36 Question Id : 2549897465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS PowerPoint & T ¢lsg I gI¢ diW% &cld & folv ﬁ
GITeTel T 57

Options:

1. = CTRL+SHIFT+<
2. v CTRL+RIGHT ARROW
3. » CTRL+SHIFT+>




4. = SHIFT+<

Question Number : 37 Question Id : 2549897470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the key combination to move to the beginning of a
text box in MS PowerPoint?

Options:

1. v CTRL+HOME
2. » HOME

3. = ALT+HOME
4. « SHIFT+HOME

Question Number : 37 Question Id : 2549897470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS PowerPoint # SFeC SToT hl TE3T H ST o o ?I;T:‘ﬁ'

gIreTal T &7

Options:

1. v CTRL+RHOME
2. = HOME

3. = ALT+HOME
4. = SHIFT+HOME

Question Number : 38 Question Id : 2549897490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the key combination to open the 'Save As’ dialog box
in MS PowerPoint?

Options:

1. = ALT+F then O
2. v ALT+F then A
3. = ALT+F then E
4. = ALT+F then D

Question Number : 38 Question Id : 2549897490 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

MS PowerPoint # BT U3 (Save As) TG ST I Wlele
¥ forw iﬂoﬂ ATSTel T &7

Options:

1. = ALT+F then O
2. v ALT+F then A
3. = ALT+F then E
4, = ALT+F then D

Question Number : 39 Question Id : 2549898049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

, MS Excel H 2T 372aT &ITcH a—lp«-ul FT ASTAEE

Qﬁﬁﬁi—da‘m%l

Options:

1. = g
2. v QI

3. = oS
4, = XY

Question Number : 39 Question Id : 2549898049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

1s a schematic representation of data or numeric values
in a circle in MS Excel.

Options:

1. = Bar
2. v Ple
3. = Line
4. % XY



Question Number : 40 Question Id : 2549897159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In Outlook, 'Skype for business’ conversations are saved in a
folder named:

Options:

1. * communication history
2. = conference history

3. v conversation history

4. = log history

Question Number : 40 Question Id : 2549897159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

3ol H, THZT BR faefeid ardiemy fha ®lest # @9 gid
&7

Options:

Question Number : 41 Question Id : 2549897428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Question Number : 41 Question Id : 2549897428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

By using which feature can you insert the contents of the
clipboard as text WITHOUT any formatting?

Options:

1. = Insert
2. = Copy
3. v Paste special
4. = Paste



Question Number : 42 Question Id : 2549897450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

What is the margin of a page when wide option is selected for
top and bottom while printing a document in MS Word 2010?

Options:

1.~ 2.54 cm, 2.54 cm
2. % 1cm,.5cm

3. % .5¢cm,.5cm

4 %=1cm, 1.25 cm

Question Number : 42 Question Id : 2549897450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Word 2010 # Teh SEATEST I SUTE hid THT Teh

AT I5& & I 3R o & fov @ig fashed &1 a9t Td
AT YoS T HAllolel AT Bl &7

Options:

1. v 2.54 €A, 2.54 HeART
2. = 1 @AY, 5 AT

3. » .5 WAy, 5 d@drART

4. = 1 VAT, 1.25 GEHAI

Question Number : 43 Question Id : 2549897994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

BHIM is available in how many languages after 2nd update?

Options:

1. %3
2. % 10
3.% 5
4.+ 16

Question Number : 43 Question Id : 2549897994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

qEY AT OT & &1 1A fohcaelr st & 3ueey &7



Options:

1. = 3
2. % 10
3. % 5
4. v 16

Question Number : 44 Question Id : 2549898029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

In MS Excel, chart measures the aggregate values of
several data series.

Options:

1. # line
2. % bar
3. = stock
4. v radar

Question Number : 44 Question Id : 2549898029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

é, MS Excel & 2eT &1 &% smelt & siae meat )

AT AT gl

Options:

1. % oSel
2. % 9

3. = Tk
4. v BN

Question Number : 45 Question Id : 2549898387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

MS Excel #, Tidea garelie a1 ggfad AU H adar sl ST
Flal & TOIT gdar gdig Siad hl UERId sl & Tolv forg
THereTal im’i T 3ITAET o7 1T §7




Options:

1. = F5
2. v F7
3. = F6
4. = F4

Question Number : 45 Question Id : 2549898387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which function key is used to display the Spelling dialog box
to check spelling in the active worksheet or selected range in
MS Excel?

Options:

1. = F5
2.v L7
3. = Fo
4. % T4

Question Number : 46 Question Id : 25498910462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Identify the statement which is true with respect to the
Lowercase option in the list of change case.

Options:

1. = To capitalise the first letter of a sentence and leave all
other letters as lowercase.

2. v To exclude capital letters from your text.

3. = To capitalise all of the letters.

4. = To capitalise the first letter of each word and leave the
other letters lowercase.

Question Number : 46 Question Id : 25498910462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



3H U T gl Y ST H deol oI H M3 HH Tdehoed
& TaT H Tar &

Options:

1. % TTHFT o Ugel 38T hl &7 Fla & T T 3 i
ERT P AR & &7 H SIS o

2. v 3Ual ¢FEC O & &L I 7oA el o [T
3. % gHT 37T T F5T el & TolIT|

4. = YA ¢T6C & Ugel &Y I F37 Hlal T 37T 318 i
IR H BIsa & U]

Question Number : 47 Question Id : 25498913282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Excel 2007 3R MS Excel 2010 Wigdel Tdcele xIsm &
Tehgsh hT TETel HIT §

Options:

1. v HP-T&TH
2. = FEd
3. = fasir
4. % Uechigg

Question Number : 47 Question Id : 25498913282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Excel 2007 and MS Excel 2010 recognises
workbooks from the file extension .xlsm.

Options:

1. v macro-enabled
2. % secure

3. = private

4. = encoded



Question Number : 48 Question Id : 25498913298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

PivotTable is useful for quickly creating unweighted

Options:

1. v cross tabulations
2. » charts

3. = Images

4. = ]ogs

Question Number : 48 Question Id : 25498913298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Mae arfererr calRa &7 & aofe gd Fellel H 3T &

Options:

1. v g RO
2. = TIC

3. = AT
4. » SIH

Question Number : 49 Question Id : 25498910493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

If a company’s name includes Ltd., Word will automatically
capitalise any word following the abbreviation.

To prevent this capitalisation, he must add Ltd. to the
AutoCorrect Exceptions list.

Arrange the following steps in the correct order.

a) On the AutoCorrect tab, click the Exceptions button

b) Go to Tools | AutoCorrect Options

¢) Click Add, and click OK twice

d) Under the First Letter tab, enter Ltd. in the Don't Capitalise
After text box

Options:

1.+b,a,d, ¢



2.% Db acd
3.=Db,d a,c
4. = h,c,d,a

Question Number : 49 Question Id : 25498910493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Ife RRET F9al & T A Ltd. oAl &, aF Word &iurey &
gTe, ToRAT 9 eTeg Al TodATfold ®9 & FiUcosel T 2|

ST hIUcCaZoIed &l Jehel & TolW, 38 Ltd. FT 3y :ac
varg T #H ST gEm|

JgT AU 91T TWON T & FH # qaieedd Hi|

a) 3Ter FIgFe &F H, IS ded W Fereh Y

b) 3TRIUT T HATY | 3iTel e dhed

c) 98 W TFereh Y, 3 a7 X 3k § W Falsh

d) TUH 3T &F & ded, Tae Fidd & qIG hidcalsoele oT
a H Lid. gof L

Options:

1. v b, a, d, ¢
2. = b, a, c d
3. = b, d, a ¢
4. = b, ¢, d, a

Question Number : 50 Question Id : 25498910536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following page sizes is the largest?

Options:

1. v BA(JIS)
2. = B5(]JIS)
3. = Qctavo



4. = Quarto

Question Number : 50 Question Id : 25498910536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

farafaf@d qva MeRT & & Fia a7 qad 937 &7

Options:

1. v B4(JIS)
2. « B5(JIS)
3. = 3iFerar
4. = Faef

Question Number : 51 Question Id : 25498918926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

ToRT TSNS eTTEhe T TRANT Hdah 3T Sl TATA hidcd & T
H WiHe Fa &7

1. « CTRL+SHIFT+D
2. v CTRL+SHIFT+K
3. * CTRL+SHIFT+>
4. = CTRL+SHIFT+H

Question Number : 51 Question Id : 25498918926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

How to format letters as small capitals using keyboard
shortcut?

Options:

1. » CTRL+SHIFT+D
2. v CTRL+SHIFT+K
3. = CTRL+SHIFT+>
4. « CTRL+SHIFT+H

Question Number : 52 Question Id : 25498918932 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

Which commands should be provided for 1.5 space lines?

Options:

1. » CTRL+2
2. » CTRL+0
3. = CTRL+1
4. v CTRL+5

Question Number : 52 Question Id : 25498918932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

SieT TT FATS 1.5 TUTT TTell kAT TSTel HIT?

Options:

1. = CTRL+2
2. = CTRL+0
3. = CTRL+1
4, v CTRL+5

READING COMPREHENSION

Section Id : 2549893374

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5
Sub-Section Number: 1
Sub-Section 1d: 2549893387
Question Shuffling Allowed : Yes

Question Id : 25498914036 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53to 57)



PENGUINS

There are 17 species of penguins some of which are found as
far north as the equator. Penguins are classified into three
families: brush-tail, crested, and king /femperor penguins. Of
the 17 kinds, only six are found in Antarctica.

Penguins often are referred to as flippered flyers due to their
effortless movement through the water and their possible
evolution from gull-like birds. It's believed that around
S50million years ago, while Antarctica was breaking away
from Gondwanaland, penguins also were separating to form
their own species. Originally belonging to warmer climates,
penguins adapted to the cold as Antarctica made its move
southward.

Part of their adjustment to the cold includes oily feathers
which cover the outer layers of penguins (and what gives that
distinguished, well dressed look). Underneath is a layer of soft
feathers and under that a thick layer of fat. This keeps the
penguins so warm that they actually fluff their feather to
release trapped heat in order to cool down.

Penguins are well known for their swimming abilities. Using
their flippers or the two flat limbs which they have for
moving forward and their feet as a rudder, penguins can
swim in excess of 12 mph (20kph). They can stay under water
for 15 to 20 minutes and dive as deep as 275 feet (900 meters).

Penguins possess exceptional vision in the water. Their eyes
are attuned to the colours of the sea—green, blue-green, and
violet. They need this excellent vision to avoid leopard seals
and killer whales, which are their primary enemies in the
ocean. On land their enemy are skuas (large birds) which
snatch penguins’ chicks from nests.



Sub questions

Question Number : 53 Question Id : 25498914037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Where are penguins found?

Options:

1. » Africa

2. » Asla

3. = Europe
4. v Antartica

Question Number : 54 Question Id : 25498914038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which of the following does NOT belong to the penguin
family?

Options:

1. = Brush-tail

2. v Skua

3. = Crested

4. = King/emperor

Question Number : 55 Question Id : 25498914039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The Antarctic is inhabited by:

Options:

1. v SiX types of penguins

2. = Ten types of penguins

3. » Fifteen types of penguins

4. = Seventeen types of penguins

Question Number : 56 Question Id : 25498914040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Select the INCORRECT option. The penguins are good
swimmers because:

Options:



1. = their flippers help them to move forward.

2. » they use their feet as rudders to change direction.
3. = their oily feathers do not get wet.

4. v they enjoy swimming in the icy cold water.

Question Number : 57 Question Id : 25498914041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Their good eye-sight under water protects them from:

Options:

1. = walruses and sea-lions

2. v leopard seals and killer whales

3. = blue whales and hammerhead sharks
4. = skuas and albatrosses

Question Id : 25498914036 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53to 57)



ECED]

]

Hage &1 17 wenferar € wd @ Fo apmed T ¥ seaw A
T S B WA F A A # el SR S & ey
qTell, g T FRIVEATE WEA| 17 T #, Herhich H
haol B TI7 S &

q&l # Tee @ T O AT dTed o TEET FT GEE THIAT
T g8 F FH 3o TFeE worad & §7 H ST SaT &
| UHT ATAT ST & ToF oerser 50 @fe=s a¥ ggel, ait=ar
HBIEATT =& Tcel € 3CERiceh Ieldl &1 41T, ﬁ?ﬁ?rﬂ-ﬁaﬂ?ﬁ
Tollfer & 376ET & @ o TH T & dord 4 &mT ar &R
WA T6a & fov g g w32 vfar # & @ 8

58 H 3oTeh TAMAT & BFH # ool 9= TiAe & & ar
qagal i aTedl oeal # dhd § (3T S Ieg fARee, weiter
TAET WETal il &)] s hiFe @0 ® TF T a8iar § A7
SHeh airel GHT &7 T AT Wd gl §| T8 95 Hl gelar
TH T & T O aeda # S81 g & Tow adAT T gET wa
& v 3qe o= &+ e &

TS Tl ST SHAE & BT S S £ 3o e
T & FHAT TSN FT ITANET Flar Toraehr Tgradr & 3 ded
E 3T e W FT gqEw F T A IR FS &, TEA 12
el g '/ (20 FRA) § AfEE ST dsd B 3 15 § 20 TAee
¥ T gt & 3fe ® G & 3 275 dre (900 dew) |
HiEer 72T O HEET & & G 3

3o 91T 96T # e T HATUNUT TE gidT &1 3oy It
FT Gosk aAtel, Ay, AT Sl @ SiEr S g dgu s
el Z3el & &del o [ol0 Io5 TH 3chbe ¢Ioe ol H@ITHAT
gl &, S §HE # 3w urAiHE RSN Fel arel gl &) qiH
T, I FEL-LIH ﬁﬁﬁtﬂﬁ% wefr) & St Aiwel d $Ea F
geal FT Biela Bl




Sub questions

Question Number : 53 Question Id : 25498914037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

gl FET U0 ST §7
Options:

1. = 3TRIeRT
2. % QRN
3. % JUT

G,

4. v 3CTRTcoR]

Question Number : 54 Question Id : 25498914038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

farafelf@d A @ Fler A1 WEa IRAN F Fafad gl &7

Options:

1. » FU-US

2.&?@3-1T
3. % hicsg
4. = TRIT/AHE

Question Number : 55 Question Id : 25498914039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

eTehfeh A Fohdel TR & Ja[3aT 910 ST &7

1. v B ThR & Yz
2. = oH YRR & 9IEd
3. * U@ Uh & ﬁ?ﬁ
4. » FIAE YhN & Y3z

Question Number : 56 Question Id : 25498914040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

el fahed FT TAT F| YIFel AT TRk FT &7

Options:




1. * 3alh HFelUT 3og 3T Tar & TEAT Fld &

2. » T TGO §gelel & TIT 379al TRT FT 3TJNT Tda” & &9 H
N &

3. # 3aTsh 3iizell Wl (9F) el 6T gt &

4. v T FHfF 32 Ul H JIRT T 3o o &

Question Number : 57 Question Id : 25498914041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Oeil H SWel hl JHTIRUT ToC 3og RO SATAT &7

Options:

1. % aTeRE AN HI-eal
2.%ﬁ§3ﬂ?ﬁ?«l’ﬁ?’wm
3. * sqf cgel 3N FALES ATH
4. » THIF AR Hesgrad

QUANTITATIVE APTITUDE
Section Id : 2549893375
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Sub-Section Number: 1
Sub-Section 1d: 2549893388
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

e, s Bew F 0E A & o9 g8 9§ 3% A SAE A I ga 9ed 3 #
120 i #) Wi i ot & ey o oo oo At o e B

Options:



5 & 120
3 = 40
4 = 180

Question Number : 58 Question Id : 25498914234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The total marks obtained by a smadent in Physics, Chemistry and Mathematics together are 120 move than the marks
obtained by him in Chemistry, What is the average marks obtained by him in Phyvsics and Mathematics together?

Options:
1.« 60

2 % 120

3. % 40

A % 180

Question Number : 59 Question Id : 25498914300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In the following questions two equations numbered I and II are given. You have to solve both the
equations and decide which of the given options is correct.

I. x?»+11x+30=0

I y*+7y+12=0

Options:



g
#®
>
IV
<

Question Number : 59 Question Id : 25498914300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Eratafas weat & | 3T 1| 9% 2 o T ow ¥ o ST wEETT B 29 o g e F R
for or et & w7 7 omEr B

L x* +11x+30-0
I ¥+ Tp¥rii=0
Options:

1. & XY

2. w XY
3 o XY
g » XN

Question Number : 60 Question Id : 25498914242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

o= # Fo A ot g o §) ofy S & wpt & T o Fw www 858 # sy w8 Hr
Tor W 1,846 E & e # ot & www G

Options:

1. = 845



2 x 833

3. % 800

4. «+ 793

Question Number : 60 Question Id : 25498914242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

There are some parrots and some tigers in a forest. If the total number of animal heads in the forest is 358 and the total
number of animal lags is 1,846, what is the number of parrots in the forast?

Options:
1. = 845

7 % 833

3. % 800

4.« 793

Question Number : 61 Question Id : 25498914249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What approximate value should come in place of the question
mark (?) in the following equation?

(638 + 9709 — 216) ~+ 26 =7
Options:

1. = 2775
2. % 365
3. = 420



4. ¢ 390

Question Number : 61 Question Id : 25498914249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

farafali@d THRIoT 7 wea RIeg (?) & T W AT
HATel T TSI ?

(638 + 9709 — 216) + 26 = ?

Options:

1. = 275
2. % 365
3. = 420
4. v 390

Question Number : 62 Question Id : 25498914344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Rita’'s present age is four times her daughter’s present age and two-thirds of her mother’s present age. The tofal of the
present ages of all of them is 154 vears. Whar is the difference berweaen Rita’s and her mother’s present aga?

Options:
| a
1. « 28 years

7 % 34 years

2 % 32 years

4 % Cannot be determined

Question Number : 62 Question Id : 25498914344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

fer $r TEE A Ao ¥ F TR I Fr 9w e o s A A o B o Rk &) 3=
TE TOAT 3G F Fw A 154 =9 § frer #i IERr A fr aoAe g # e s 82

Options:



1. v 28 3

2. % 343y

3 % 3299

4. » TOiRe 78 & o1 g &

Question Number : 63 Question Id : 25498914350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Two-thirds of Ranjit's monthly salary is equal to Raman's monthly salary. Raman's monthly salary is thirty percent
more than Pawan's monthly salary. Pawan's monthly salary is ¥ 32.000. What is Ranjit's monthly salary?

Options:

1. x T 64,200

9 % T 62,500

3 % T64,500

4. » 62,400

Question Number : 63 Question Id : 25498914350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

IS & ANAE 390 & 2 e Temr 190 & Afes 3049 & auat 1 T894 &7 Alds 904 959
¥ AEE 397 ¥ 30 viEays #iow &) 999 =7 WS 999 € 32,000 ) =9 = ®fEw 399
e &7

Options:

1 % % 64,200



2 % % 62500

3 % ¥ 64500

4. » % 62,400

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549893376

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6
Sub-Section Number: 1
Sub-Section 1d: 2549893389
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

AN e fod a2 &) AT @elT ersal I Uk ersaanlel 37N

qUITelshd H saaTedd fondml ST &, aF Y 4T O el @
eTeg, 3T

Options:

1. v Miniscule
2. * Minimalist
3. * Minority

4. = Miniature

Question Number : 64 Question Id : 25498910035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Which of the following words will come third if all of them
are arranged alphabetically as in a dictionary?

Options:

1. v Miniscule
2. » Minimalist
3. = Minority
4. = Miniature

Question Number : 65 Question Id : 25498910123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Select the option that is related to the third term in the same
way as the second term is related to the first term.

Mother : Child :: Cloud : ?

Options:

1. » Weather
2. v Rain

3. = Thunder
4. = Walter

Question Number : 65 Question Id : 25498910123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Ao @&d H, ;1 & Uk % & I 2Nl eegl & & Tah
e dag & 3 @ & qEd TNE Uk g f&am 9= § et
GO ¢Teg T I Taehedl # @ 56 Wb Wit ohdT STl §,
Saa gl ersgl o dT Sk 38T TR T T TATT &7 SIR—F
g Uh &7 §99 8 9 Jig & o=l & s gl 3

i ~
[deh e 'EJDG'I |

AT : &<dT :: Scel & 7

Options:



1. « HNEH
2. v gur
3. = fesfell
4. % 9relr

Question Number : 66 Question Id : 25498912834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Instruction: Study the following arrangement of letters, digits
and symbols to answer the question given below.

AB7CD9ZY*P2ZMOKS3Tt5NT®@

Question: If the first element from the left interchanges places
with the tenth element from the left, similarly second with
ninth, third with eight, fourth with seventh and so on, then
which of the following will be seventh to the left of the eighth
element from the right?

Options:

1.+ C
2.%x D
3.7
4. %9

Question Number : 66 Question Id : 25498912834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



& I U T 3ca S o ToIW &R, 3hr 3T Udlehl hr
G CIEC R ER T M G CET T

AB7CDY9ZY*P2MOKSI3ITOSNT®@

e AT 3T & Ugel U I FRT 3 & 0T UG & 91 seel
feam STaT g, 97 atE g@EY #l &id, dEY Hr 3ad, It
grad, 3R difeh 67 38T I8 dea fed o g, dr feeafei@a
H & i OT SR 31 & 334 Ug & a7 30 Taar gem?

1. v C
2. = D
3. % 7
4. = 9

Question Number : 67 Question Id : 25498912892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

T SOTC T shleT &T 31&TT-57&ell 1T 0 ToUA T dTelel Ll
gl

Ueh ATl H folehcad! &R & ST H I3 - & T &7
H Ueh T gig & Sar gl

Options:

1. = CIOUBK
2. = HLPTXN
3. * CHMRWB
4. v CEHLQW



Question Number : 67 Question Id : 25498912892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Find out which of the letter-series follows the given rule:

Number of letters skipped between adjacent letters in a series
increases by one.

Options:

1. » CIOUBK
2. » HLPTXN

3. »« CHMRWB
4. v CEHLOQW

Question Number : 68 Question Id : 25498919030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

farafe@a & O sia ige, T 3 Sica ST &7

Options:
1. = §FAF
2. % 9

3. v hiT
4. = 2l

Question Number : 68 Question Id : 25498919030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is the same as Weevils, Borer and
Beetle?

Options:

1. = Termites
2. = Lice

3. v Moth

4. = Ringworm

Question Number : 69 Question Id : 25498919862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



S T oo AU 9T & 348 @ A oree fhdT aileh & Teh-
HATS 0T aTel & ofehel HIS Ueh T oo 3of ool & e

3dH el (378 Tel) 2sq T TdT o@MT|

Options:

1. = olNHSI
2. % Tk

3. = #Te
4. v FIME

Question Number : 69 Question Id : 25498919862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In each of the following, four words have been given, out of
which three are alike in some manner, while the fourth one
1s different. Choose out the odd one.

Options:

1. = Fox
2. » Yak
3. x Bear
4. v Kangaroo

GENERAL AWARENESS
Section Id : 2549893377
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Sub-Section Number: 1
Sub-Section 1d: 2549893390
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895234 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

TSR FY el TEAT (NIAM)(VASTOH) i & a8 A
Feara &7

1p.¢¢3|'q1§|31'

2. = @% el
3. = AT
4,

x GEITSIE

Question Number : 70 Question Id : 2549895234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The National Institute for Agriculture Marketing (NIAM) is in
the city of:

Options:

1. v Jaipur

2. » New Delhl
3. = Nagpur

4. = Hyderabad

Question Number : 71 Question Id : 2549895282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Question Number : 71 Question Id : 2549895282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which ancient text consists of the Purusha Sukta?

Options:




1. = Bhagavad Gita
2. v Rigveda

3. = Manusmriti
4. = Atharvaveda

Question Number : 72 Question Id : 2549895506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 72 Question Id : 2549895506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following structures is present in mitochondria?

Options:

1. = Quantasomes

2. v OXysomes
3. = Polysomes
4. = Dictyosomes

Question Number : 73 Question Id : 2549899823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Question Number : 73 Question Id : 2549899823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Who among the following wrote the poem ‘Subh-e-Azadi’?

Options:

1. = Sahir Ludhiyanvi

2. v Faiz Ahmed Faiz

3. » Muhammad Ighal

4. » Maulana Abul Kalam Azad

Question Number : 74 Question Id : 2549895336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Match List — I (District) with List — II (Rich source of) and
select the correct answer by using the code given below the
lists:

List —1 List — II

A. Almora 1. Gypsum
B. Bikaner 2. Kyanite

C. Singhbhum 3. Magnesite
Options:

1.vA-3,B-1,C-2
2.«A-3,B-2,C-1
3.=sA-2,B-1,C-3
4 «A-1,B-3,C-2

Question Number : 74 Question Id : 2549895336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0
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Options:

1.vA-3B-1,C-2
2.« A-3,B-2C-1
3.« A-2B-1,C-3
4.« A-1,B-3, C-2

Question Number : 75 Question Id : 25498922837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Question Number : 75 Question Id : 25498922837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Corals reefs are formed by phylum:

Options:

1. = Protozoa
2. v Coelenterata
3. = Arthropoda



4. = Porifera

Mock
Group Number : 2
Group ld: 2549892342
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time: 1
Mandatory Break time: Yes
Group Marks: 0
Isthis Group for Examiner?: No
English Typing Test
Section Id : 2549893378
Section Number : 1
Section type: Typing Test
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 0
Sub-Section Number: 1
Sub-Section 1d: 2549893391
Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498927122 Question Type: TYPING TEST

Summer camps are supervised camps conducted to entertain
as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development
of a child and children have fun during this process as they
get to explore new arenas.
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The Internet is one of the greatest creatlons and glves
CVeIVOne an instant access to an chdless supply of knowledpe
and entertainmaent. Below i3 0 complote list of all of the
advanlages of e Inlernel. Informalion, koowledge, and
learning. The Internet contalng an endless supply of
Enowledre and information that allows you to learn about
almost any 1opic or question you may have, Tsing a search
angine like Google you can ask virlually any guestion and
find & web page with an answer o that gquestion.
Connectivity, communication, and sharing, In the past, it
wiould take days and sometimes cven months to roocive o
leller [rom someons else. Bul new you can send an email Lo
atyone in the world through internet and have 1 dalivered o
less than a minute, Address, mapping, and contact
information. With the help of GI'S rechnology, the Tnternet
can help you o search everywhare o the world. You can
guickly find your location or businesses in your ares thal
may sell or provide vou with a service vou need. Banding,
hills, and shopping, The Tnternoet gives you a right to appreach
your bank accounl o view your balanoce, make lransaciions,
and send rmoeney. Online shopping s another huge advantlags
of The [nternet that fives people a way to explore their
fazhicn by simply sitting ar home, The Internet §ives overyone
SEHY ACCesE L0 0MMre prices between cormpanies and even
see wial others hink aboul g product through online
reviews, There are other ways sernesne can make money
anline vy performing other online services. Collabaration,
wiork [rawn home and access (o global workloree, The
Inlerned is e perlecl place Lo worlt with other people Ceom
around the world, ‘There are rany enline services that allow
wou to work with ather people and with this ability to have
quick communicalion, ik can even make produeing new
products and services [asler. An Inlernel cenneclion provides
many people with the ability to work fromm hoine o1 have a
virtual office. Today, many businesses allow their emplovens
lowork ITom home using their computers and Internel
conneclion. Waoerking [com home can help save people money
Iy not Tiaving to pay for child care and save thern rocney and
time by climinating the daily commute to and from work
vy day. TEyvou are own i business that needs omployees
lhen there are many services anline thal can give you docess
tix pecple looking for a joly all areund the world, Having the
ahility to hire sermeone from another part of the conntry or
wiorld allows you (o gol aeeess Lo oa much widor talent pool
and tray also allow you Lo hive someone al & much cheaper
rate, Donatlens and funding, with access to a rouch wider
audicnoce, anvone with an Internet connection can gquickly
bl fand projects and ideaz that interest thetn, Also, those
loaling Tor charily can [ind many online services that help
make It easier to help donate or suppert thelr causes, Lastly,
make a correct use of the technology that yon haove and make
youranli better for tho waorld.
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